
19 1/4"

3/4"

1/4-INCH DIAMETER (TYP)

ELECTROLYTIC TOUGH PITCH COPPER ALLOY 110

1/4-INCH x 1/2-INCH (TYP)

ACCOMMODATES "A" SPACED TWO HOLE LUGS.

ALL BARS ARE MANUFACTURED FROM 1/4-INCH THICK

5
/8

"

1
 1

/2
"

TEBC

STAND-OFF BRACKET TO
MAINTAIN BONDING/

COMMUNICATIONS CABLE
SEPARATION

VERTICAL
MANAGEMENT

RBB, ONE PER
RACK

RBC

#2 BONDING
CONDUCTOR

EQUIPMENT RACK

ANSI/TIA/ANSI/TIA/TIA 
EQUIPMENT FRAME

CONCRETE ANCHOR

TRIM TO 1/4" 
EXPOSED THREAD

3/8" x 16 HEX NUT

3/8" FENDER WASHER

3/8" SPLIT LOCK WASHER

3/8" x 16 x 3 1/2" STUD

STRANDED
BONDING JUMPER

COMPRESSION LUG, TYP

RUNWA
Y

RUNWAY MOVABLE 
CROSS MEMBER

RUNWAY RADIUS
DROP, CROSS MEMBER

RUNWAY

AUXILIARY FRAMING BAR

CORNER CLAMP 
BRACKET

RUNWAY END SUPPORT

HEX NUT

SPLIT LOCK WASHER 

FENDER WASHER

HILTI QUICK BOLT II 
EXPANSION 

ANCHOR

RUNWAY

THREADED ROD

170Ø mm STRANDED BONDING JUMPER

COMPRESSION LUG, TYP

RUNWAY WIDTH AS
INDICATED ON DRAWINGS

ANGLE IRON
WALL SUPPORT

ATTACH STRUT TO WALL FOR 
MOUNTING OF RUNWAY STAND 
OFF'S

RUNWAY STAND-OFF

RUNWAY

®

J
a
c
o
b
s
 S

o
lu

ti
o
n
s
 2

0
2
3
. 

 A
L
L
 R

IG
H

T
S

 R
E

S
E

R
V

E
D

.
c

T
H

IS
 D

O
C

U
M

E
N

T
, 

A
N

D
 T

H
E

 I
D

E
A

S
 A

N
D

 D
E

S
IG

N
S

 I
N

C
O

R
P

O
R

A
T

E
D

 H
E

R
E

IN
, 

A
S

 A
N

 I
N

S
T

R
U

M
E

N
T

 O
F

 P
R

O
F

E
S

S
IO

N
A

L
 S

E
R

V
IC

E
, 

IS
 T

H
E

 P
R

O
P

E
R

T
Y

 
O

F
 J

A
C

O
B

S
 A

N
D

 I
S

 N
O

T
 T

O
 B

E
 U

S
E

D
, 

IN
 W

H
O

L
E

 O
R

 I
N

 P
A

R
T

, 
F

O
R

 A
N

Y
 O

T
H

E
R

 P
R

O
J
E

C
T

 W
IT

H
O

U
T

 T
H

E
 W

R
IT

T
E

N
 A

U
T

H
O

R
IZ

A
T

IO
N

 O
F

 J
A

C
O

B
S

.
R

E
U

S
E

 O
F

 D
O

C
U

M
E

N
T

S
:

DATE

PROJ

DWG

D
S

G
N

D
R

C
H

K
A

P
V

D

A
P

V
D

B
Y

R
E

V
IS

IO
N

D
A

T
E

N
O

.

PLOT DATE/TIME:

D

1 2 3 4 5 6

C

B

A

SHEET NO

SCALE

1
9
9
9
 B

ry
a
n
 S

tr
e
e
t 

S
u
ite

 3
5
0
0

T
e
l:
 2

1
4
-6

3
8
-0

1
4
5

E
n
tit

y:
 J

a
c
o
b
s
 E

n
g
in

e
e
ri
n
g
 G

ro
u
p
 I
n
c
.

L
ic

e
n
s
e
 T

y
p
e
: 

E
n
g
in

e
e
ri
n
g

D
a
lla

s
, 

T
X

 7
5
2
0
1

F
a
x:

 2
1
4
-6

3
8
-0

4
4
7

L
ic

e
n
s
e
 #

: 
1
7
6

L
ic

e
n
s
e
 E

xp
 D

a
te

: 
1
2
/3

1
/2

0
2
4

Autodesk Docs://US_D3754500_FED_Aerojet Rocketdyne/D37545N0_CMDN_OSD_Standard Details_TCOM-SEC.rvt 9/16/2024 11:49:17 AM

As indicated

09/18/2024

D37545N0

B
P

K
R

R
F

T
E

L
E

C
O

M
M

U
N

IC
A

T
IO

N
D

E
T

A
IL

S

T-802

C
a
m

p
u

s
 S

ta
n

d
a

rd
 D

e
ta

ils
C

a
m

d
e

n
 O

S
D

C
a

lh
o

u
n
 C

o
u

n
ty

, 
A

rk
a

n
s
a
s

A
e
ro

je
t 

R
o

c
k
e

td
y
n

e

CMDN_Standard-Details_T-802

NTSD1
EQUIPMENT FRAME ANCHORING

NTSD2
LADDER RUNWAY BONDING

NTSD3
LADDER RUNWAY DROP OUT

NTSB1
LADDER RUNWAY END CLOSING KIT

NTSB2
LADDER RUNWAY FOOT

NTSD5
LADDER RUNWAY SUPPORT

NTSB3
LADDER RUNWAY TEE BONDING

NTSB5
LADDER RUNWAY WALL SUPPORT KIT

NTSA1
LADDER RUNWAY WALL SUPPORT

NTSA3
RACK BONDING BUSBAR (RBB)

NTSA5
RACK BONDING BUSBAR (RBC)

0
0

9
/1

8
/2

0
2
4

1
0
0
%

 I
S

S
U

E
D

 F
O

R
 C

O
N

S
T

R
U

C
T

IO
N

 -
 E

X
P

A
N

S
IO

N
B

P
M

T


